H29-084.xIsx A7

CASBEER#B-#72E (20154F k) WM fiv=27) CASBEES#-$%E (2015%4R)
(R 7) FTR B B 2 IR BT R L& [ [mesfestEassreiRA mamy o CASBEER#S-#i%2015 (v.1.0)

ARA7—b

EARE BR|350550 | mmmesnomERAM | e ||| 2%
a A
% |assoRE was | 22 | was | 22
Q EEVOBRERE 2.6
Ql ENIRIE 0.40 - 2.7
1 BRiE 2.6 0.15 2.6 1.00 2.6
1.1 BE 3.0 0.40 3.0 0.40
1.2 ESF 3.0 0.40 3.0 0.40
1 [FAOEREE AL 3.0 0.40 3.0 0.30
2 |REEEFMEE 3.0 0.60 3.0 0.30
3 |RERESMHAEE(GEHER) S 3.0 0.20
4 |REKESHE(ESHER) s 3.0 0.20
1.3 ®E 1.0 0.20 1.0 0.20
2 REEIE 2.6 0.35 2.6 1.00 2.6
2.1 EBHIE 3.0 0.50 3.0 0.50
1 [=B 3.0 0.38 3.0 0.57
2 |9 ERIERE 3.0 0.25 3.0 0.43
3 |V =Rl 3.0 0.38 5
2.2 ‘R 1.0 0.20 1.0 0.20
2.3 ZHRAK 3.0 0.30 3.0 0.30
3 N -1 3.3 0.25 3.0 1.00 3.2
3.1 RAEFA 4.2 0.30 4.2 0.30
1| Rk ou% [A2ERER) [(EEEF:27% HAEE:5.0% 5.0 0.60 5.0 0.60
2 AELRIER . 5
BT AR % |BUHENS) 3.0 0.40 3.0 0.40
3.2 ’71/7‘1% 3.0 0.30 3.0 0.30
[ 1 [BkHim CY=T Y Ele ) 3.0 1.00 3.0 1.00
3.3 BE 3.0 0.15 1.0 0.15
3.4 BB 3.0 0.25 3.0 0.25
4 ZRERE 2.3 0.25 2.7 1.00 25
41 BERTE 3.0 0.50 3.0 0.63
1 |¥EEME 3.0 1.00 3.0 1.00
20 ! 030 0.38
1 |BsE 3.0 0.50 0.33
2 |BRBRIERE oux |AeERER) 5 0.33
3 |RYANSARA~NDEE 1.0 0.50 0.33
43 ERER 1.0 | 020 s
1_[CO,nEER -
2 |BE Qi 1.0 1.00 .
Q2 H—ERMHRE — 0.30 - 2.7
1 #BEEM 2.2 0.40 4.0 1.00 3.1
1.1 BEEEME-ELVOTE 3.0 0.40 5.0 0.60
1 [EE- IR 15.84mi 5 5.0 1.00
2 | EEERBERERS - -
3 |/\UFIY—&tE [ P pIE:T=E-5) 3.0 1.00 s
1.2 :L\IE‘It{ R 1.0 | 030 25 1 040
LaR-28 0Lt |cormma)  |B=2450m LS DBEARERLTLDS 5 4.0 0.50
2 YILYLaAR—R . .
3 |REFE [ J=E- BICETEE =) 1.0 1.00 1.0 0.50
1.3 HHERE 2.5 0.30 5
1 [ EECRELE 3.0 0.50
2.0 0.50
2 A% 2.9 0.30 . 2.9
21 ME-RE 3.0 0.50
1| RN 3.0 0.80
2 |RE-HIIRMERE 3.0 0.20
2.2 B& - S OmAER 3.0 0.30
1| SR AR R D A ER OXY) A2 ERER) 3.0 0.20
2 |5EEEEIFHMOEELERR 3.0 0.20
3 |[FEREHLETFHORHFLERR 3.0 0.10
4 |ZRBKIILOBHLERER 3.0 0.10
5 |Z=E-HBHKEEDEFLERR 3.0 0.20
6 |FTEZHEHRFOEFLERIR 3.0 0.20

1/2



H29-084.xIsx A7

24 S5 2.8 0.20
SR T 3.0 0.20
2 |#8HEK-BrAEEE 2.0 0.20
3 |EXE(E 3.0 0.20
4 |HW-BREXEAE 3.0 0.20
5 |@{E-1EHREE 3.0 0.20 .
3 xS - E e 2.3 0.30 ] 1.00 2.1
3.1 ZEDpEY 1.0 0.30 1.0 0.50
[(1 [EEnpLy 1.0 0.60 1.0 0.60
[ 2 [Z=romik-BES XY |AzEkER) 1.0 0.40 1.0 0.40
3.2 WEOPLEY 3.0 0.30 3.0 0.50
3.3 HimOEHE 2.8 0.40 5
1 | ZEREEDEHNE @Kt |A(2EMER) 2.0 0.20
2 [#EHKEDEHM oY |A(2ERER) 3.0 0.20
3 |EREROFHME XY |A2ERER) 3.0 0.10
4 |BIEEHROEHME XY |A(2EIER) 3.0 0.10
5 |[RiE#ISFOEHM XY |A2ERER) 3.0 0.20
6 |/ \wITYTRR—RDER 3.0 0.20 -

Q3 ESMRIE (BibA) _ 0.30 - B 25
1 EPBREOREEAH okt | (2EmER) 2.0 0.30 S 2.0
2 FELEH - BBR~DOEE o) ggiggg; 3.0 0.40 ; 3.0
3 Mgtk -PA=TAI~NDEE 2.5 0.30 = 25

3.1 HugE~OEE, REEDR £ .é:;g A (£ERER) 3.0 0.50
3.2 R BIREDH L 0Lt |ACEIRER) 2.0 0.50

LR EEVORBEEFERME

LR1 TRILF— = 0.40 - - 35
1 BONEOBRATTHH BPIm:0.72 4.0 0.20 5 4.0
2 BRI RILX—FIH = L) 3.0 0.10 = 3.0
3 B RATLDO®mBEL 0B |coaams) BEI 3E{fE 0.86 sE@am 0.83 2.0 0.50 - 2.0

EEEEUSN DFEE(3a.3b) BEIm:0.86 4.0 1.00 5
£S5 EEDHEGC) = =
4 HEMER 2.0 0.20 . 2.0
EE5EEUSNDOFHE 2.0 1.00 5
[N E=DPZ) 3.0 0.50
42 |EREERE 1.0 0.50
£S5 EEDHE -
R EE=0PZi
4.2 & A K 2 2
LR2 ER-ZTUT I = 0.30 - I - 3.2
1 KERRE 3.4 0.20 . 3.4
1.1 8K TMGG40EW 4.0 0.40 .
1.2 FKFA-#EKEDFA 3.0 0.60
1 |MAKFARATLEADEE | 08K |AZERER) 3.0 0.70
2 |MHKERACATLEADEE 3.0 0.30 -
2 FFEEMEROEREHIR 3.1 0.60 = 3.1
2.1 HEERROHIH oxy |5 EIRS 20 | o010
2.2 BEEERAREDQHEER 3.0 0.20
2.3 FHMRISET U 1oLHOmR | exw [SHEERED 30 | o020
2.4 BEIHLN=BIH U110 | exn |5 EHEER 10 | o020
25 BEARLRANSERSNIAN | emm [SHERRED  [ROPEMIHEAHTIR 50 | o010
2.6 BHOBFAATEER E~OREA | @k |A(2ERER) [GLTE 5.0 0.20 .
3 EEMEEEMEOERE 3.7 0.20 = 3.7
3.1 EEMEEEFLRVHEOER 3.0 0.30 -
3.2 7O -,\ar@[EE 4.0 0.70
PR - -
2 |FEAK|(MEME) /o0 REEHER 5.0 0.50
_ 3 |4 3.0 0.50 -

LR3 B BRIT — 0.30 -1 - 2.9
1 #hEKREE{E~DEE B E:88% 3.4 0.33 5 3.4
2 HSEIE~DEE 2.3 0.33 = 2.3

2.1 RKBEZBAE 3.0 0.25 5
2.2 RBREELORE 0Lt |A(ZEIRER) 2.0 0.50
2.3 g A2 I5~DE RN 2.3 0.25

1 |FKHEKEFER - -

2 [5BKAnEE & Tl 3.0 0.33

3 [3LEE T 3.0 0.33

4 |EEYLESFNH 1.0 0.33 =

3 EIBE~DER 3.0 0.33 = 3.0

3.1 BE-R-EXDMHLE 3.0 0.40 5

MBS 3.0 1.00

2 |iRED . )

3 |ER - -
3.2 RE-ME-BREZE DI 3.0 0.40

1 |RAEQHG] 3.0 0.70

2 |BEQIF =

3 |HERMEE DI 3.0 0.30
3.3 AE DI 3.0 0.20

1 BARERVERNBHDILAISRIDIEADRE 3.0 0.70

2 BADEBMNEICEDRHAR (TLT)~DRE @t |BUEEANR) 3.0 0.30

EEAM O EARE O ERRREMBI-FEIEE BREAX—T—FAM TRY:KEI<ES TEdiEbIcES TERI:BRMEDLD

2/2



